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! W2 -Solving Quadratics by Completing the Square
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1) Solve each equation by completing the square. Round answers to 2 decimal places where necessary.

a)x?+14x—38=0
(P lYy449-49) 38=0
(X elyx+49) -49-3¢ = O
o~
(7)) -¢7 2O
(xN® =<7

¢)x?+14x—-51=0
(K4t +48-41) - SI =
(P H92) - Y451 =
(X%+7)> <100 =0
(x+7Y = \oo

Xy TJleo
X+¥7 2% \O
X710 x+7=-10

e)x’+6x+8=0
(X +6x1+7-9) 43 =0
(+6x+9) -9+ = &

(x3)*-| 0
x+3)" = |
03 = 2]

X+3= | X+3 =

b)x2+6x—59=0
(¥ +éx 420 ) -59=0
(1 +6% 1) -1-69 =0
(XY 6B <O
(37 6%
3=t

Y= -3 J5%

d)x? —12x+11=0
(P-"xr36-36 )+ = O
(*-13x +3¢) -36411 = ©

(X-6)*-35 =0
(x-€)*=35
x-€ = 1J35
X6 =
: 'x,é -
f)x? —12x + 23 —0
(219 43¢-3¢) 423 =0
(4-13¢ ¥36) -3¢+23 = O
(x-6)*-13 20
(-6)* )3
K¢ = iz

X=( 4 Ji5

| X,= .;230(] m




g)x? —6x = -91
(ik-éwq ,cﬁ = -q|
(F-ex)-9 =-1|

h) 8x2 + 16x = 42

%'(7(‘+27<7 Y
3(’)(1%1/)(4,(-” %N

S
(x-3) s-%- % (A v -3 ¢
x-3 = B(x+)* = 50
N st (s
Y
M=% xp: ’%\

X= 2
%7
i)4x? +4x+36=0

3x*+5x—4=0

LCEP +1 -0 3(0?‘+§a<)*r =0

= (P p2x 42525\ _
P19 = 0 g i 363'5’
( 2 I 3(’1(1"'57(1-1’5),?;-5- —L{
7(“"7('{‘((’(/) ;Q‘ -q 3 3¢ I =
] , .
(exvg) -4 -1 S(x+f) - 2
- 35
(o = -3 e
] ) %
s = I = g -+ [3
¥ 6= ~ £
& Ag res) solwrons .
2. ¢ s B
Q = Jg g - %

[_;;.Tgéﬂ l Xz —Q‘,Q{)}

Answers

1l)a) x = —16.33,2.33 b)x = —11.25,5.25 ¢)x =—-17,3 d)x =1,11 e)x = —4,-2 f)x = 2.39,9.61
g) no real solutions h) x = —%,g i) no real solutions j) x = —2.26,0.59




